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HEBERFRA: M 2 £ 4 ABHS

| HAFE (Ftd) XEEEF S
HEX 1 ADCERE = -
(5 BIZ4+) (Imizft)
946.0000 FJ (FiA) 398.9040 F (FziA)
A om ~80mET
860.0000 F (Fitk) 362.6400 M (Fitk)
1,199.0000 M (F73A) 367.2790 F (FziA)
B 81m ~300m E£T
1,090.0000 M (Fiik) 333.8900 M (Fitk)
2,206.4790 M (FiA) 333.6960 9 (FiA)
C 301 m ~
2,005.8900 M (Fitk) 303.3600 FM (Fitk)

XKUEEHTEMTABRNE(EBAFAB)NEFLTNET,
T 2 £ 4 AORBHE - -71.38 A (Fitk)

OHAMENHE
(5] 17ADERAZ 10 mMOHE--HekD B 28H

Bin#E = HER B OEANE + (CHEAEM)x B RREMSHME) GARBDERO
= 1090Mm+ (150 m x 33389 M)

= 6,098 M
HEREF = RlldE x HERE CRRBYHET)
EEEL]

6,098 A x 10 %
= 609 M

AZAHE = RIRHE + HERFHELE ARBIET
= 6098 M+ 609 M

= 6,707 A| « ZFEK%E




